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COSTING . -
The term ‘cost’ means the amount of expenses [actual or notional] incurred on or

atributable to specified thing or activity.

As per Institute of cost and work accounts (ICWA) India, Cost is “measurement in
monetary terms of the amount of resources used for the purpose of production of goods or
rendering services”.

To get the results we make efforts. Efforts constitute cost of getting the results. It can be
®pressed in terms of money; it means the amount of expenses incurred on or attributable
:0 ‘ome specific thing or activity. The term cost is used in this very form. In reference
Oproducnon/manufacturing of goods and services cost refers to sum total of the value

Of reg . X : : .
manufo urees used like raw material and labour and expenses incurred in producing.or
acturing of given quantity.

tiSt . .
Man he assessment of the total cost in manufacturing a product even before it 1s
ufﬂCIUr

Qualityandei‘ Ofle must have a sound knowledge of material, labour, processing ¢O_StS,
limg requirz d ant‘ty_Ofmaterial required, selection of manufacturing method, manufacturing
e Probable . €te. in order to do a proper estimation. The engineer must be able to state
kn““’n, thee °Ost at the stage when only sketch plans are drawn. If the available funds are
Whigl, m designer has to work backwards i.e. will have to design the building/product

e i o
Constructed within the available sum.
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an also be illustrated by the block diagram Fio 5
1g5.2

This ©
Profit
or
| Seting & =
Distribution
. Cosl
Adminis-
trative
Expenses :
Factory otal Cost 5
of Selli ang
EXN“SQS Cos!;mg Price
Direct ocf:,?
Material
Direct Prime Works
Cost Direct
Direct G
Expenses
| _, " Fig5.2
(5 OVERHEADS : M
meaning than the term indirect expenses. Overheads

The term overhead has a wider
include the cost of indirect material, indirect labour and indirect expenses.

| iggregate sum of indirect material, indirect labour and indirect expenses.

This is the

OVPrhead — [ndirect material + Indirect labour + Indirect expenses

wing three categories:
n overheads

overheads
rheads

Overheads are cléssiﬁed into follo
1) Factory/works/ productio
2) Office and administrative

3) Selling and distribution OV€
- curred in the factory for production of
ed with the running 0

« All indirect costs in
ses

 DFactory/works overheads

- Bods s termed as factory/works overheads. Such costs ¢ concern
b factory or plant. These include indirect material, indirect labour &

| "curred in the factory. Some examples are as follows: -

d indirect expen

K I"dif'ECt materials:
(') Grease, oil, lubricants, cotton wa
(“) Small tools, brushes for sweeping
({ll) Cost of threads, gum, nails, etc-
(iv) Consumable stores
(V) Factory printing and stat

ste etc.

sundry supplies etc.

jonery

b)
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